

## **City of Tempe**

## **Bid Tabulation**

Bid Date 05/26/21 Bid Time 9:00 AM

Pavement Preservation-FY 2022-Group 1
Project No. 5499742D

## Base Bid

Item No.	Item Name	Quantity	Unit	Eng. Est.	NESBITT CONTRACTING CO_, INC	TALIS CONSTRUCTION CORPORATION	S&S PAVING & CONSTUCTION, INC	SUNLAND ASPHALT & CONSTRUCTION, INC	CACTUS ASPHALT
				Unit Cost Total Cost	ING	ION TION	G & ION, INC	TION,	PHALT
1	MOBILIZATION/DEMOBILIZATION	1	LS	\$155,000.00 \$155,000.00	\$20,000.00 \$20,000.00	\$61,000.00 \$61,000.00	\$83,287.00 \$83,287.00	\$396,156.00 \$396,156.00	\$590,000.00 \$590,000.00
2	SURVEY OF EXISTING LOCATIONS, AS-BUILTS	1	LS	\$240,000.00 \$240,000.00	\$76,500.00 \$76,500.00	\$77,400.00 \$77,400.00	\$80,040.00 \$80,040.00	\$45,000.00 \$45,000.00	\$40,000.00 \$40,000.00
3	ADJUST NEW VALVE BOX & COVER TO GRADE	220	EA	\$550.00 \$121,000.00	\$790.00 \$173,800.00	\$740.50 \$162,910.00	\$550.00 \$121,000.00	\$725.00 \$159,500.00	\$745.00 \$163,900.00
4	ADJUST MANHOLE LID, FRAME AND COVER TO GRADE	160	EA	\$600.00 \$96,000.00	\$820.00 \$131,200.00	\$775.00 \$124,000.00	\$650.00 \$104,000.00	\$750.00 \$120,000.00	\$800.00 \$128,000.00
5	RECONSTRUCT EXITSTING SURVEY MONUMENT TO GRADE, TYPE A	7	EA	\$475.00 \$3,325.00	\$520.00 \$3,640.00	\$825.00 \$5,775.00	\$550.00 \$3,850.00	\$775.00 \$5,425.00	\$1,450.00 \$10,150.00
6	RECONSTRUCT EXITSTING SURVEY MONUMENT TO GRADE, TYPE B	48	EA	\$450.00 \$21,600.00	\$240.00 \$11,520.00	\$537.00 \$25,776.00	\$550.00 \$26,400.00	\$225.00 \$10,800.00	\$390.00 \$18,720.00
7	SAWCUT AND REMOVE SIDEWALK	6810	SF	\$5.00 \$34,050.00	\$1.40 \$9,534.00	\$6.50 \$44,265.00	\$4.10 \$27,921.00	\$2.50 \$17,025.00	\$2.50 \$17,025.00
8	SAWCUT AND REMOVE SIDEWALK RAMP	30755	SF	\$3.00 \$92,265.00	\$1.50 \$46,132.50	\$4.40 \$135,322.00	\$4.40 \$135,322.00	\$2.50 \$76,887.50	\$2.50 \$76,887.50
9	SAWCUT AND REMOVE VALLEY GUTTER AND APRON, ALLEY ENTRANCE	16210	SF	\$3.00 \$48,630.00	\$2.00 \$32,420.00	\$5.25 \$85,102.50	\$4.40 \$71,324.00	\$3.50 \$56,735.00	\$3.50 \$56,735.00
10	SAWCUT AND REMOVE EXISTING CURB AND GUTTER	5925	LF	\$10.00 \$59,250.00	\$11.50 \$68,137.50	\$8.30 \$49,177.50	\$7.10 \$42,067.50	\$6.50 \$38,512.50	\$9.50 \$56,287.50

11	SAWCUT AND REMOVE AC PAVEMENT	2520	SY	\$20.00 \$50,400.00	\$12.50 \$31,500.00	\$26.00 \$65,520.00	\$17.00 \$42,840.00	\$17.50 \$44,100.00	\$22.50 \$56,700.00
12	CONSTRUCT SIDEWALK	6810	SF	\$10.00 \$68,100.00	\$6.40 \$43,584.00	\$5.23 \$35,616.30	\$5.90 \$40,179.00	\$7.00 \$47,670.00	\$4.50 \$30,645.00
13	CONSTRUCT SIDEWALK RAMP	30755	SF	\$7.00 \$215,285.00	\$7.40 \$227,587.00	\$8.00 \$246,040.00	\$9.45 \$290,634.75	\$10.50 \$322,927.50	\$9.00 \$276,795.00
14	INSTALL/RETROFIT DETECTABLE WARNING SURFACE (TRUNCATED DOMES)	680	SF	\$40.00 \$27,200.00	\$64.00 \$43,520.00	\$13.75 \$9,350.00	\$61.00 \$41,480.00	\$100.00 \$68,000.00	\$60.00 \$40,800.00
15	CONSTRUCT CONCRETE CURB AND GUTTER - TYPE A	4355	LF	\$25.00 \$108,875.00	\$30.00 \$130,650.00	\$20.00 \$87,100.00	\$25.00 \$108,875.00	\$35.00 \$152,425.00	\$28.00 \$121,940.00
16	CONSTRUCT CONCRETE CURB AND GUTTER - TYPE C	1470	LF	\$25.00 \$36,750.00	\$30.00 \$44,100.00	\$21.70 \$31,899.00	\$25.00 \$36,750.00	\$27.00 \$39,690.00	\$27.00 \$39,690.00
17	CONSTRUCT CONCRETE SINGLE CURB - TYPE A	100	LF	\$35.00 \$3,500.00	\$40.00 \$4,000.00	\$35.00 \$3,500.00	\$22.00 \$2,200.00	\$45.00 \$4,500.00	\$27.00 \$2,700.00
18	CONSTRUCT CONCRETE VALLEY GUTTER AND APRON	16210	SF	\$9.00 \$145,890.00	\$8.50 \$137,785.00	\$8.90 \$144,269.00	\$9.06 \$146,862.60	\$8.50 \$137,785.00	\$9.00 \$145,890.00
19	CONSTRUCT ASPHALT CONCRETE PAVEMENT (PATCHBACK)	2520	SY	\$55.00 \$138,600.00	\$55.00 \$138,600.00	\$51.40 \$129,528.00	\$20.85 \$52,542.00	\$70.00 \$176,400.00	\$62.00 \$156,240.00
20	REMOVE AND REPLACE CATCH BASIN LID	700	SF	\$60.00 \$42,000.00	\$70.00 \$49,000.00	\$62.00 \$43,400.00	\$16.35 \$11,445.00	\$55.00 \$38,500.00	\$56.00 \$39,200.00
21	REMOVE AND REPLACE SCUPPER	1	EA	\$3,000.00 \$3,000.00	\$6,500.00 \$6,500.00	\$3,800.00 \$3,800.00	\$2,500.00 \$2,500.00	\$3,000.00 \$3,000.00	\$56.00 \$56.00
22	REMOVE SIGN POST AND FOUNDATION	2	EA	\$175.00 \$350.00	\$350.00 \$700.00	\$230.00 \$460.00	\$250.00 \$500.00	\$100.00 \$200.00	\$585.00 \$1,170.00
23	INSTALL SIGN POST AND FOUNDATION	2	EA	\$175.00 \$350.00	\$350.00 \$700.00	\$440.00 \$880.00	\$450.00 \$900.00	\$475.00 \$950.00	\$585.00 \$1,170.00
24	TEMPORARY PAVEMENT MARKINGS (PAINT)	271470	LF	\$0.20 \$54,294.00	\$0.10 \$27,147.00	\$0.34 \$92,299.80	\$0.10 \$27,147.00	\$0.09 \$24,432.30	\$0.10 \$27,147.00
25	PAVEMENT MARKINGS (THERMOPLASTIC)	271470	LF	\$0.50 \$135,735.00	\$0.30 \$81,441.00	\$0.45 \$122,161.50	\$0.28 \$76,011.60	\$0.26 \$70,582.20	\$0.30 \$81,441.00
26	FUNISH AND INSTALL SYMBOLS AND LEGENDS (THERMOPLASTIC)	38	EA	\$125.00 \$4,750.00	\$110.00 \$4,180.00	\$286.00 \$10,868.00	\$111.00 \$4,218.00	\$105.00 \$3,990.00	\$115.00 \$4,370.00

27	PREFORMED BICYCLE RIDER AND ARROW	55	EA	\$250.00 \$13,750.00	\$220.00 \$12,100.00	\$285.00 \$15,675.00	\$215.00 \$11,825.00	\$205.00 \$11,275.00	\$225.00 \$12,375.00
28	RAISED PAVEMENT MARKERS	2590	EA	\$3.25 \$8,417.50	\$3.00 \$7,770.00	\$4.30 \$11,137.00	\$3.00 \$7,770.00	\$2.90 \$7,511.00	\$3.25 \$8,417.50
29	PAINT MEDIAN BULLNOSE	6	EA	\$125.00 \$750.00	\$90.00 \$540.00	\$130.00 \$780.00	\$87.00 \$522.00	\$82.00 \$492.00	\$92.00 \$552.00
30	DECTECTOR LOOP REPLACEMENT	20	EA	\$1,500.00 \$30,000.00	\$1,900.00 \$38,000.00	\$2,250.00 \$45,000.00	\$2,500.00 \$50,000.00	\$2,100.00 \$42,000.00	\$950.00 \$19,000.00
31	ELECTRICAL CONDUIT (2" PVC)	1	LS	\$3,500.00 \$3,500.00	\$3,000.00 \$3,000.00	\$2,450.00 \$2,450.00	\$4,500.00 \$4,500.00	\$650.00 \$650.00	\$12,000.00 \$12,000.00
32	TACK COAT	206	TN	\$300.00 \$61,800.00	\$480.00 \$98,880.00	\$520.00 \$107,120.00	\$747.00 \$153,882.00	\$500.00 \$103,000.00	\$450.00 \$92,700.00
33	STREET CRACK SEALING	1	LS	\$2,500.00 \$2,500.00	\$28,000.00 \$28,000.00	\$40,000.00 \$40,000.00	\$125,100.00 \$125,100.00	\$7,500.00 \$7,500.00	\$25,000.00 \$25,000.00
34	FULL WIDTH MILL EXISTING AC PAVEMENT	302900	SY	\$1.30 \$393,770.00	\$1.50 \$454,350.00	\$1.52 \$460,408.00	\$1.80 \$545,220.00	\$1.50 \$454,350.00	\$1.50 \$454,350.00
35	REMOVE AND REPLACE EXISTING PAVEMENT	1534	TN	\$100.00 \$153,400.00	\$100.00 \$153,400.00	\$133.00 \$204,022.00	\$128.00 \$196,352.00	\$120.00 \$184,080.00	\$100.00 \$153,400.00
36	CONSTRUCT ARAC PAVEMENT (EVAC PG70-16 TR)	14907	TN	\$90.00 \$1,341,630.00	\$94.00 \$1,401,258.00	\$100.00 \$1,490,700.00	\$95.55 \$1,424,363.85	\$95.00 \$1,416,165.00	\$97.00 \$1,445,979.00
37	CONSTRUCT ARAC PAVEMENT (EVAC PG76-22 PMTR)	14792	TN	\$105.00 \$1,553,160.00	\$102.00 \$1,508,784.00	\$92.30 \$1,365,301.60	\$101.35 \$1,499,169.20	\$102.00 \$1,508,784.00	\$100.00 \$1,479,200.00
38	ASPHALT CONCRETE BASE REPAIR ALLOWANCE	1	AL	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00
39	TRAFFIC CONTROL ALLOWANCE	1	AL	\$325,000.00 \$325,000.00	\$325,000.00 \$325,000.00	\$325,000.00 \$325,000.00	\$325,000.00 \$325,000.00	\$325,000.00 \$325,000.00	\$325,000.00 \$325,000.00
40	OFF DUTY POLICE OFFICER ALLOWANCE	1	AL	\$180,000.00 \$180,000.00	\$180,000.00 \$180,000.00	\$180,000.00 \$180,000.00	\$180,000.00 \$180,000.00	\$180,000.00 \$180,000.00	\$180,000.00 \$180,000.00
41	LANDSCAPE RESTORATION ALLOWANCE	1	AL	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00	\$15,000.00 \$15,000.00
42	CONCRETE ALLOWANCE	1	AL	\$75,000.00 \$75,000.00	\$75,000.00 \$75,000.00	\$75,000.00 \$75,000.00	\$75,000.00 \$75,000.00	\$75,000.00 \$75,000.00	\$75,000.00 \$75,000.00

43	UTILITY PERMIT ALLOWANCE	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	
44	CITY OF CHANDLER COORDINATION ALLOWANCE	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	
45	ADOT PERMIT AND COORDINATION ALLOWANCE	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	
		Total Base Bid:		\$6,118,876.50	\$5,899,960.00	\$6,190,013.20	\$6,249,000.50	\$6,447,000.00	\$6,536,632.50	